FABOOL Laser DS L—H—%& /\wX 4 1Rk

No.

BB

)

& %

80W L—H—&

SPCC




FABOOL Laser DS hH/8— /8wx 41 Xk

No. HEA HE {E %%
1/Bottom-BL SPCC
2|Bottom-BR SPCC
3|Bottom-F SPCC




FABOOL Laser DS 3/\— /XX 245 1) Xk

No. TR ] &%
1|Back-L SPCC 1
2|Back-R SPCC 1
3|EMS-plate SPCC 1
4|Front SPCC 2
5|Inner-L SPCC 1
6/Inner-R SPCC 1
7|Optical-line SPCC 1
8|Right SPCC 1
9|Right-fan SPCC 1

10({Top-back-L SPCC 1
11|Top-back-R SPCC 1
12| Tube-mount-plate SPCC 2
13|Left SPCC 1




FABOOL Laser DS 79 JL /1\vX2 5 1) X+

No. Tk | 18 %%
1|Inner_left 7o) 1
2|Inner_right T 1
3|Back 7oL 1
4|Front 7L 1
5|Left 7))L 1
6|Top-back 72 1
7| Top-center TI))L 1
8|Top-left 7L 1
9|Top-right T 1

10|Bed-L Tl 2
11|Bed-R 7o)l 2




FABOOL Laser DS ZJILZT7L—L /\vFx 51X+

No. TR i§%E 3%
1{1348mm V-slot 20mm*40mm 1
2(790mm V-slot 20mm*40mm 2
3[1360mm 7L TJL—L ZE#£20mm*40mm 5
4/760mm 7 IJLZTL—L ZAE20mm*40mm 2
5/510mm 7 JLETL—L ZAE20mm*40mm 1
6/200mm 7 JLSTL—L ZAE20mm*40mm 3
7|1150mm 7 LT —L Z#20mm*40mm 1
8[125mm 7ILZTL—L EA20mm*40mm 1
9|115mm 7JLSTL—L ZAE20mm*40mm 1

10{90mm 7 ILST7L—L Z#£20mm*40mm 2
1111360mm 7LD —L ZAE20mm~A 3
12/1240mm 7 JLETL— L EAE20mmA 1
13[1180mm 7 LT — L ZAE20mMmMA 1
14/1140mm 7 JLETL—L ZAE20mm~A 2
15(1010mm 7L IL—L ZEE20mmEA 4
16/790mm 7 LT —L ZHE20mmAA 1
17(760mm 7 JLZTL—L ZAE20mmEA 2
18/320mm 7 JLETL— L ZAE20mMmMEA 4
19|300mm 7L —L EXE20mm#A 1
20(280mm 7 L= — L EAE20mmA 2
21|1210mm 7JLEDJL— L ZAE20mm~A 2
22|200mm 7ILEIL—L ZEEE20mmA 2
23|180mm 7 JL=TJL— L ZAE20mm~A 2
24|165mm 7 JLETJL— L EAE20mmA 2
25(150mm 7 JLETJL— L ZAE20mMmMA 3
26/100mm 7L —L ZAE20mmA 1




FABOOL Laser DS Ah/8—Y-BEEG /\vF 51X

No.

ik

{5

&%

RATYEL G E—5—

wheel plate y-axis

TILZ

wheel plate x-axis

T7ILI

wheel plate motor mount

T7ILS

solid v wheel

N|=]=INW®

-

~FYLY

N
S

lens nut

7L

OIN|O[ [ WIN|—-

lens mount guide

TILZ

(o]

lens mount

TILZ

10

air assist holder

wRE

11

&0 2y FHEF

12

limit mount

7L

13

carrier mount x-axis

wRE

14

carrier mount y-axis

wRE

15

AC-DC4—7 )L

16

AC-Lasersr—7J )L

17

AC-Main’7—7 )L

18

EMSH—J )L

19

Power5—7J )L

20

Doorsr—7 )L

21

FAN14—7J )L

22

FAN24—J )L

23

grounds—7 )L

24

Laser Pointersr—7J )L

25

Lasersr—7J )L

26

X-Motorsr—7J )L

27

Y1-Limit7r—7 )L

28

Y2-Limit’7—7 )L

29

Y-Moter-L5—7J )L

30

Y-Moter-R5—7J )L

31

L—H—RA5—

Fyb&47

32

BHEADCT 7Y

120mm#E

33

DCT7>

80mm#

34

BEREAR

35

S AR2

36

F1I35—HA7ILITIL—L4

45°Hvk

37

F235—RA7IIIL—L

45°hyk

38

B b

39

INRILAYFARI AR

40

X&/7r—2IL¥rIT

41

X7y —IILEXUTERAT S vk

42

Y& —JILx ¥ YT

43

Y&y —JILF¥)7 Bt TS5 vk

BAININ| Al laAlaAalaAlaAflaafaalaalalalalalaaa NIl




44|pe 2 3
45|l F 2
4G XEHRAS T NILE GT2 1
ATIYEHRASU TR )LE GT2 2
48|33 T—1)— GT2 3
49180W L—H—HAEIR 1
50|12 5—<v bk 3
S1EH LUK 1
2| REIZ5— 3
S3|{REAA 1
54| R4 wF L EIR 1
55| imF & 1
56|a>kAa—)LER 1
57\USB~—JJL 1
58[/AR LI RUSBY—T )L 1
59|ACH—7J L 1
60|7z54 ka7 1
61|KERIILAFa—T 0.03
62 |pointer-holder FILEMI 1
6327547 vk 20mmATL—LEE A 4
64| 7L—rI 545 vk 20344 2
65|3—hk/\— 2:&E#% 2
66|L—H—BT Ik 2
67|PCB cover 7ILZH 1
68|PCB Bottom cover 7ILZH 1
69| HRRTY Y 2
70| 75yk/N— 24
711 1TMmMAR—H— 4
72|M5x15 RAIUTRILE 12
73|M5x40 {EEEARIL+ =2 2
74/M5x30 {EEEAR L+ = 10
75|M5x25 {EEEAR L+ = 4
76|M5x8 {EEER L+ = 62
77|M5x6 {EEER L+ 2 124
78|M57 s v — [BJIS 22
79|M5x8 AT AL+ 12
80(M4+ vk 21
81|M4x25 {EEERIL+ =2 4
82|M4x30 {EEER LK~ 2 4
83|M45E AF vk 4
84|M4x10 A JTIA)IL+ 12
85|M4x12 XA IUTHRILE 5
86|M4x12 XA 7T IMARILk 4
87 |M3x6 XA IUTRILE 16
88|M3x12 RAIUTHRILE 4
89|M3x8 FRAIUTARILE 8




90

M2x8 7RA It ARILE

91

M5x6 7RAIUTARILE

92

M5 B {+ BE &

93

M3#&Z AT VR

-_—

94

M3x10 FRA T MAILE

95

M3Fvk

96

M5#%& AT+ vk

97

M3x5 RETUFTERILE

F4ar

98

NEAN—H—

99

HRAVFEEER

-

100

M5x10 {EEE7R)IL b

101

M5x16 7NA 7t MA L+

102

6.35MmMAR—+H—

NI N E N S I S RN )

-

103

1.2mm L

104

RIDAR—H—

105

M5x25 FRA T AL+

106

M5O+ vk

107

M3x4 FREUFARILE

108

M3y v —

109

1ERY

110

DEHHL

111

M5x8 FRAyUTARILE

112

M5 TH+vbk

113

BEAIS Uk

20mm#ATL—LEE A 91

114

58 WAWAN

115

FEFLERZL

116

S

Door!)2ybc XA yFH 1

117

OARY

KRB RIETFHITHRYET



